

# Alternating quadratic and cubic series with the tail of $\ln 2$

OVIDIU FURDUI and ALINA SÎNTĂMĂRIAN

ABSTRACT. In this paper we calculate several alternating quadratic series and a cubic series involving the tail of  $\ln 2$ .

## 1. INTRODUCTION

In this paper we calculate several alternating quadratic series and a cubic series involving the expression  $\frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots$ . This term is connected to the tail of  $\ln 2$  as follows

$$(-1)^{n-1} \left[ \ln 2 - \left( 1 - \frac{1}{2} + \frac{1}{3} - \dots + \frac{(-1)^{n-2}}{n-1} \right) \right] = \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots$$

The goal of this paper is to extend the results recorded in [3], in problems 3.28, 3.29 and 3.45, concerning the calculation of some quadratic series involving the tail of  $\ln 2$ . Our results, which deal with the calculation of alternating series, are new in the literature and they are obtained based on a combination of techniques involving Abel's summation formula and shifting the index of summation. The last one allows us to reduce the calculation of an alternating quadratic series to a linear series.

Before stating the main results of the paper, we briefly mention two special functions that are used in our calculations.

The famous Riemann zeta function  $\zeta$  is defined by  $\zeta(s) = \sum_{n=1}^{\infty} \frac{1}{n^s}$ ,  $\Re(s) > 1$ . For  $|z| \leq 1$ , the Dilogarithm function  $\text{Li}_2(z)$  is introduced in the mathematical literature by  $\text{Li}_2(z) = \sum_{n=1}^{\infty} \frac{z^n}{n^2} = -\int_0^z \frac{\ln(1-t)}{t} dt$ . When  $z = -1$  or  $z = 1$ , we obtain the values  $\text{Li}_2(-1) = \sum_{n=1}^{\infty} \frac{(-1)^n}{n^2} = -\frac{\pi^2}{12}$  and  $\text{Li}_2(1) = \sum_{n=1}^{\infty} \frac{1}{n^2} = \zeta(2) = \frac{\pi^2}{6}$ . For properties of these and other special functions, the reader is referred to [5].

## 2. MAIN RESULTS

The main results of this paper are the following theorems.

### Theorem 2.1. Quadratic series with the tail of $\ln 2$

The following identities hold:

- (a)  $\sum_{n=1}^{\infty} (-1)^n \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right)^2 = -\frac{\zeta(2)}{4}$ ;
- (b)  $\sum_{n=1}^{\infty} (-1)^n n \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right)^2 = \frac{\ln 2}{2} - \frac{1}{2} - \frac{\zeta(2)}{8}$ ;
- (c)  $\sum_{n=1}^{\infty} (-1)^n (2n-1) \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right)^2 = \ln 2 - 1$ ;

Received: 12.01.2023. In revised form: 17.07.2023. Accepted: 24.07.2023

2000 Mathematics Subject Classification. 40A05, 40C10.

Key words and phrases. Abel's summation formula, alternating series, quadratic and cubic series, tail of  $\ln 2$ .

Corresponding author: Ovidiu Furdui; [Ovidiu.Furdui@math.utcluj.ro](mailto:Ovidiu.Furdui@math.utcluj.ro)

$$(d) \sum_{n=1}^{\infty} (-1)^n \left[ n^2 \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right)^2 - \frac{1}{4} \right] = \frac{\ln 2 - 1}{2};$$

$$(e) \sum_{n=1}^{\infty} \frac{(-1)^n}{n} \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right)^2 = -\frac{\ln^3 2}{3} + \frac{\ln 2}{2} \zeta(2) - \frac{3}{4} \zeta(3).$$

**Theorem 2.2.** *A cubic series with the tail of  $\ln 2$*

*The following equality is valid*

$$\sum_{n=1}^{\infty} (-1)^n n \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right)^3 = \frac{\ln 2}{4} - \frac{3 \ln^2 2}{4} - \frac{\zeta(2)}{16}.$$

We collect, in the next lemma, some results that we need in proving Theorems 2.1 and 2.2.

**Lemma 2.1.** *Linear series with the tail of  $\ln 2$*

*The following equalities are true:*

$$(i) \sum_{n=1}^{\infty} (-1)^n \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right) = -\frac{1}{2};$$

$$(ii) \sum_{n=1}^{\infty} (-1)^n \left[ 2n \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right) - 1 \right] = -\frac{1}{4};$$

$$(iii) \sum_{n=1}^{\infty} \frac{(-1)^n}{n} \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right) = \frac{\ln^2 2}{2} - \frac{\zeta(2)}{2};$$

$$(iv) \sum_{n=1}^{\infty} \frac{(-1)^n}{n^2} \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right) = \frac{\ln 2}{2} \zeta(2) - \zeta(3).$$

Before we prove the lemma, we observe that

$$\begin{aligned} \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots &= \int_0^1 (x^{n-1} - x^n + x^{n+1} - \dots) dx \\ &= \int_0^1 \frac{x^{n-1}}{1+x} dx. \end{aligned} \tag{2.1}$$

This implies

$$\lim_{n \rightarrow \infty} n \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right) = \frac{1}{2} \tag{2.2}$$

and it follows that

$$\frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \sim \frac{1}{2n}.$$

This shows that the series in parts (a), (b), (c), (e) of Theorem 2.1, Theorem 2.2 and parts (i), (iii) and (iv) of Lemma 2.1 are all convergent.

Now we prove Lemma 2.1.

*Proof.* (i) Formula (2.1) implies that

$$\begin{aligned}
 \sum_{n=1}^{\infty} (-1)^n \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right) &= \sum_{n=1}^{\infty} (-1)^n \int_0^1 \frac{x^{n-1}}{1+x} dx \\
 &= - \int_0^1 \frac{1}{1+x} \left( \sum_{n=1}^{\infty} (-x)^{n-1} \right) dx \\
 &= - \int_0^1 \frac{1}{(1+x)^2} dx \\
 &= -\frac{1}{2}.
 \end{aligned}$$

(ii) It follows, based on (2.1), that

$$\begin{aligned}
 2n \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right) - 1 &= 2n \left( \int_0^1 \frac{x^{n-1}}{1+x} dx - \int_0^1 \frac{x^{n-1}}{2} dx \right) \\
 &= n \int_0^1 x^{n-1} \frac{1-x}{1+x} dx.
 \end{aligned}$$

Therefore,

$$\begin{aligned}
 \sum_{n=1}^{\infty} (-1)^n \left[ 2n \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right) - 1 \right] &= \sum_{n=1}^{\infty} (-1)^n n \int_0^1 x^{n-1} \frac{1-x}{1+x} dx \\
 &= - \int_0^1 \frac{1-x}{1+x} \left[ \sum_{n=1}^{\infty} n(-x)^{n-1} \right] dx \\
 &= \int_0^1 \frac{x-1}{(x+1)^3} dx \\
 &= -\frac{1}{4}.
 \end{aligned}$$

(iii) We have, using (2.1), that

$$\begin{aligned}
 \sum_{n=1}^{\infty} \frac{(-1)^n}{n} \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right) &= \sum_{n=1}^{\infty} \frac{(-1)^n}{n} \int_0^1 \frac{x^{n-1}}{1+x} dx \\
 &= \int_0^1 \frac{1}{x(1+x)} \left( \sum_{n=1}^{\infty} \frac{(-x)^n}{n} \right) dx \\
 &= - \int_0^1 \frac{\ln(1+x)}{x(1+x)} dx \\
 &= \int_0^1 \frac{\ln(1+x)}{1+x} dx - \int_0^1 \frac{\ln(1+x)}{x} dx \\
 &= \frac{\ln^2 2}{2} - \frac{\zeta(2)}{2}.
 \end{aligned}$$

(iv) According to (2.1), we obtain that

$$\begin{aligned}
\sum_{n=1}^{\infty} \frac{(-1)^n}{n^2} \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right) &= \sum_{n=1}^{\infty} \frac{(-1)^n}{n^2} \int_0^1 \frac{x^{n-1}}{1+x} dx \\
&= \int_0^1 \frac{1}{x(1+x)} \sum_{n=1}^{\infty} \frac{(-x)^n}{n^2} dx \\
&= \int_0^1 \frac{\text{Li}_2(-x)}{x(1+x)} dx \\
&= \int_0^1 \frac{\text{Li}_2(-x)}{x} dx - \int_0^1 \frac{\text{Li}_2(-x)}{1+x} dx.
\end{aligned} \tag{2.3}$$

We calculate the first integral in (2.3) and we have

$$\int_0^1 \frac{\text{Li}_2(-x)}{x} dx = \int_0^1 \frac{1}{x} \sum_{n=1}^{\infty} \frac{(-x)^n}{n^2} dx = \sum_{n=1}^{\infty} \frac{(-1)^n}{n^3} = -\frac{3}{4}\zeta(3). \tag{2.4}$$

We calculate the second integral in (2.3). We integrate by parts, with  $f(x) = \text{Li}_2(-x)$ ,  $f'(x) = -\frac{\ln(1+x)}{x}$ ,  $g'(x) = \frac{1}{1+x}$ ,  $g(x) = \ln(1+x)$ , and we have that

$$\int_0^1 \frac{\text{Li}_2(-x)}{1+x} dx = \ln(1+x)\text{Li}_2(-x)|_0^1 + \int_0^1 \frac{\ln^2(1+x)}{x} dx = -\frac{\ln 2}{2}\zeta(2) + \frac{\zeta(3)}{4}, \tag{2.5}$$

since  $\int_0^1 \frac{\ln^2(1+x)}{x} dx = \frac{\zeta(3)}{4}$  (see [1, pp. 291–292]).

Combining (2.3), (2.4) and (2.5), the desired result holds and part (iv) of the lemma is proved.  $\square$

Now we are ready to prove Theorem 2.1.

*Proof.* (a) We calculate the series by shifting the index of summation. We have

$$\begin{aligned}
&\sum_{n=1}^{\infty} (-1)^{n-1} \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right)^2 \\
&= \ln^2 2 + \sum_{n=2}^{\infty} (-1)^{n-1} \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right)^2 \\
&\stackrel{n-1=m}{=} \ln^2 2 + \sum_{m=1}^{\infty} (-1)^m \left( \frac{1}{m+1} - \frac{1}{m+2} + \frac{1}{m+3} - \dots \right)^2 \\
&= \ln^2 2 - \sum_{m=1}^{\infty} (-1)^{m-1} \left[ \frac{1}{m} - \left( \frac{1}{m} - \frac{1}{m+1} + \frac{1}{m+2} - \dots \right) \right]^2 \\
&= \ln^2 2 + \sum_{m=1}^{\infty} \frac{(-1)^m}{m^2} + 2 \sum_{m=1}^{\infty} \frac{(-1)^{m-1}}{m} \left( \frac{1}{m} - \frac{1}{m+1} + \frac{1}{m+2} - \dots \right) \\
&\quad - \sum_{m=1}^{\infty} (-1)^{m-1} \left( \frac{1}{m} - \frac{1}{m+1} + \frac{1}{m+2} - \dots \right)^2
\end{aligned}$$

and it follows, having in view part (iii) of Lemma 2.1, that

$$\begin{aligned}
 & 2 \sum_{n=1}^{\infty} (-1)^{n-1} \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right)^2 \\
 &= \ln^2 2 + \sum_{n=1}^{\infty} \frac{(-1)^n}{n^2} + 2 \sum_{n=1}^{\infty} \frac{(-1)^{n-1}}{n} \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right) \\
 &= \ln^2 2 - \frac{\zeta(2)}{2} + 2 \left( \frac{\zeta(2)}{2} - \frac{\ln^2 2}{2} \right) \\
 &= \frac{\zeta(2)}{2}.
 \end{aligned}$$

We mention that this series was calculated by a different method, based on an integration technique, in [3, problem 3.45].

(b) We shift the index of summation and we obtain

$$\begin{aligned}
 S &= \sum_{n=1}^{\infty} (-1)^n n \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right)^2 \\
 &= -\ln^2 2 + \sum_{n=2}^{\infty} (-1)^n n \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right)^2 \\
 &\stackrel{n-1=i}{=} -\ln^2 2 + \sum_{i=1}^{\infty} (-1)^{i+1} (i+1) \left( \frac{1}{i+1} - \frac{1}{i+2} + \frac{1}{i+3} - \dots \right)^2 \\
 &= -\ln^2 2 - \sum_{i=1}^{\infty} (-1)^i (i+1) \left[ \frac{1}{i} - \left( \frac{1}{i} - \frac{1}{i+1} + \frac{1}{i+2} - \frac{1}{i+3} + \dots \right) \right]^2 \\
 &= -\ln^2 2 - \sum_{i=1}^{\infty} (-1)^i (i+1) \left[ \frac{1}{i^2} - \frac{2}{i} \left( \frac{1}{i} - \frac{1}{i+1} + \frac{1}{i+2} - \dots \right) \right. \\
 &\quad \left. + \left( \frac{1}{i} - \frac{1}{i+1} + \frac{1}{i+2} - \dots \right)^2 \right] \tag{2.6} \\
 &= -\ln^2 2 - \sum_{i=1}^{\infty} (-1)^i \frac{i+1}{i^2} + 2 \sum_{i=1}^{\infty} (-1)^i \frac{i+1}{i} \left( \frac{1}{i} - \frac{1}{i+1} + \frac{1}{i+2} - \dots \right) \\
 &\quad - \sum_{i=1}^{\infty} (-1)^i (i+1) \left( \frac{1}{i} - \frac{1}{i+1} + \frac{1}{i+2} - \dots \right)^2 \\
 &= -\ln^2 2 - \sum_{i=1}^{\infty} \frac{(-1)^i}{i} - \sum_{i=1}^{\infty} \frac{(-1)^i}{i^2} + 2 \sum_{i=1}^{\infty} (-1)^i \left( \frac{1}{i} - \frac{1}{i+1} + \frac{1}{i+2} - \dots \right) \\
 &\quad + 2 \sum_{i=1}^{\infty} \frac{(-1)^i}{i} \left( \frac{1}{i} - \frac{1}{i+1} + \frac{1}{i+2} - \dots \right) - S - \sum_{i=1}^{\infty} (-1)^i \left( \frac{1}{i} - \frac{1}{i+1} + \frac{1}{i+2} - \dots \right)^2.
 \end{aligned}$$

It follows, having in view part (a) of Theorem 2.1 and parts (i) and (iii) of Lemma 2.1, that

$$2S = -\ln^2 2 + \ln 2 + \frac{\zeta(2)}{2} - 1 + 2 \left( \frac{\ln^2 2}{2} - \frac{\zeta(2)}{2} \right) + \frac{\zeta(2)}{4} = \ln 2 - 1 - \frac{\zeta(2)}{4}.$$

Now we give **another proof**, a gem in the theory of quadratic series, of parts (a) and (b) of Theorem 2.1.

Let

$$S = \sum_{n=1}^{\infty} (-1)^n n \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right)^2$$

and

$$T = \sum_{n=1}^{\infty} (-1)^n \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right)^2.$$

We apply Abel's summation formula, which states that if  $(a_n)_{n \geq 1}$  and  $(b_n)_{n \geq 1}$  are sequences of real numbers and  $A_n = \sum_{k=1}^n a_k$ , then  $\sum_{k=1}^n a_k b_k = A_n b_{n+1} + \sum_{k=1}^n A_k (b_k - b_{k+1})$ , or, the infinite version

$$\sum_{k=1}^{\infty} a_k b_k = \lim_{n \rightarrow \infty} A_n b_{n+1} + \sum_{k=1}^{\infty} A_k (b_k - b_{k+1}). \quad (2.7)$$

Let  $x_n = \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots$ . We calculate the series in part (a) of Theorem 2.1 by using Abel's summation formula, with  $a_n = 1$  and  $b_n = (-1)^n \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right)^2 = (-1)^n x_n^2$ , and we have that

$$\begin{aligned} T &= \sum_{n=1}^{\infty} (-1)^n \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right)^2 \\ &= \lim_{n \rightarrow \infty} n (-1)^{n+1} \left( \frac{1}{n+1} - \frac{1}{n+2} + \frac{1}{n+3} - \dots \right)^2 \\ &\quad + \sum_{n=1}^{\infty} n [(-1)^n x_n^2 - (-1)^{n+1} x_{n+1}^2] \\ &= \sum_{n=1}^{\infty} n (-1)^n (x_n^2 + x_{n+1}^2) \\ &= \sum_{n=1}^{\infty} n (-1)^n [(x_n + x_{n+1})^2 - 2x_n x_{n+1}] \\ &= \sum_{n=1}^{\infty} n (-1)^n \left[ \frac{1}{n^2} - 2x_n \left( \frac{1}{n} - x_n \right) \right] \\ &= \sum_{n=1}^{\infty} \frac{(-1)^n}{n} - 2 \sum_{n=1}^{\infty} (-1)^n x_n + 2 \sum_{n=1}^{\infty} (-1)^n n x_n^2 \\ &= -\ln 2 - 2 \left( -\frac{1}{2} \right) + 2 \sum_{n=1}^{\infty} (-1)^n n x_n^2 \\ &= -\ln 2 + 1 + 2S. \end{aligned}$$

We used that  $\lim_{n \rightarrow \infty} n \left( \frac{1}{n+1} - \frac{1}{n+2} + \frac{1}{n+3} - \dots \right)^2 = 0$ , which follows based on (2.2).

It follows that  $T - 2S = 1 - \ln 2$ . On the other hand, equality (2.6) implies that  $2S + T = \ln 2 - 1 - \frac{\zeta(2)}{2}$ . Solving the system of linear equations we obtain that  $T = -\frac{\zeta(2)}{4}$  and  $S = \frac{\ln 2}{2} - \frac{1}{2} - \frac{\zeta(2)}{8}$ .

(c) Multiply the series in part (b) by 2 and subtract the series from part (a).

(d) Let  $x_n = \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots$  and observe that  $x_n + x_{n+1} = \frac{1}{n}$ . The following identity can be proved by mathematical induction

$$(-1)^1 1^2 + (-1)^2 2^2 + \dots + (-1)^n n^2 = (-1)^n \frac{n(n+1)}{2}, \quad n \geq 1. \quad (2.8)$$

We calculate the series in part (d) by applying Abel's summation formula with  $a_n = (-1)^n n^2$  and  $b_n = x_n^2 - \frac{1}{4n^2}$ , and we have, based on (2.8), that

$$\begin{aligned} & \sum_{n=1}^{\infty} (-1)^n \left[ n^2 \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right)^2 - \frac{1}{4} \right] \\ &= \lim_{n \rightarrow \infty} (-1)^n \frac{n(n+1)}{2} \left[ x_{n+1}^2 - \frac{1}{4(n+1)^2} \right] \\ & \quad + \sum_{n=1}^{\infty} (-1)^n \frac{n(n+1)}{2} \left[ x_n^2 - \frac{1}{4n^2} - x_{n+1}^2 + \frac{1}{4(n+1)^2} \right] \\ &= \frac{1}{2} \sum_{n=1}^{\infty} (-1)^n n(n+1) \left[ \frac{1}{n}(x_n - x_{n+1}) + \frac{1}{4(n+1)^2} - \frac{1}{4n^2} \right] \\ &= \frac{1}{2} \sum_{n=1}^{\infty} (-1)^n (n+1) \left( x_n - x_{n+1} + \frac{n}{4(n+1)^2} - \frac{1}{4n} \right) \\ &= \frac{1}{2} \sum_{n=1}^{\infty} (-1)^n (n+1) \left( 2x_n - \frac{1}{n} + \frac{1}{4(n+1)} - \frac{1}{4n} - \frac{1}{4(n+1)^2} \right) \\ &= \frac{1}{2} \sum_{n=1}^{\infty} (-1)^n (n+1) \left( 2x_n - \frac{1}{n} - \frac{1}{4n(n+1)} - \frac{1}{4(n+1)^2} \right) \\ &= \frac{1}{2} \sum_{n=1}^{\infty} (-1)^n (n+1) \left( 2x_n - \frac{1}{n} \right) + \frac{1}{8} \sum_{n=1}^{\infty} \frac{(-1)^{n+1}}{n} + \frac{1}{8} \sum_{n=1}^{\infty} \frac{(-1)^{n+1}}{n+1} \\ &= \frac{1}{2} \sum_{n=1}^{\infty} (-1)^n (2nx_n - 1) + \sum_{n=1}^{\infty} (-1)^n x_n - \frac{1}{2} \sum_{n=1}^{\infty} \frac{(-1)^n}{n} + \frac{1}{8} \\ &\stackrel{\text{Lemma 2.1 (i), (ii)}}{=} -\frac{1}{8} - \frac{1}{2} + \frac{\ln 2}{2} + \frac{1}{8} \\ &= \frac{\ln 2 - 1}{2}. \end{aligned}$$

We used in the preceding calculations that  $\lim_{n \rightarrow \infty} n(n+1) \left[ x_{n+1}^2 - \frac{1}{4(n+1)^2} \right] = 0$ , which follows based on (2.2).

(e) We mention that the series in part (e) of Theorem 2.1 was calculated, by an integration technique, by Boyadzhiev in [2, formula 19].

Here, we calculate the series using a technique based on evaluating the alternating cubic series  $\sum_{n=1}^{\infty} (-1)^n \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right)^3$  by shifting the index of summation. We

have

$$\begin{aligned}
S &= \sum_{n=1}^{\infty} (-1)^n \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right)^3 \\
&= -\ln^3 2 + \sum_{n=2}^{\infty} (-1)^n \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right)^3 \\
&\stackrel{n-1=i}{=} -\ln^3 2 + \sum_{i=1}^{\infty} (-1)^{i+1} \left( \frac{1}{i+1} - \frac{1}{i+2} + \frac{1}{i+3} - \dots \right)^3 \\
&= -\ln^3 2 - \sum_{i=1}^{\infty} (-1)^i \left[ \frac{1}{i} - \left( \frac{1}{i} - \frac{1}{i+1} + \frac{1}{i+2} - \dots \right) \right]^3 \\
&= -\ln^3 2 - \sum_{i=1}^{\infty} (-1)^i \left[ \frac{1}{i^3} - \frac{3}{i^2} \left( \frac{1}{i} - \frac{1}{i+1} + \frac{1}{i+2} - \dots \right) \right. \\
&\quad \left. + \frac{3}{i} \left( \frac{1}{i} - \frac{1}{i+1} + \frac{1}{i+2} - \dots \right)^2 - \left( \frac{1}{i} - \frac{1}{i+1} + \frac{1}{i+2} - \dots \right)^3 \right] \\
&= -\ln^3 2 - \sum_{i=1}^{\infty} \frac{(-1)^i}{i^3} + 3 \sum_{i=1}^{\infty} \frac{(-1)^i}{i^2} \left( \frac{1}{i} - \frac{1}{i+1} + \frac{1}{i+2} - \dots \right) \\
&\quad - 3 \sum_{i=1}^{\infty} \frac{(-1)^i}{i} \left( \frac{1}{i} - \frac{1}{i+1} + \frac{1}{i+2} - \dots \right)^2 + S.
\end{aligned}$$

It follows, having in view part (iv) of Lemma 2.1, that

$$\begin{aligned}
&3 \sum_{i=1}^{\infty} \frac{(-1)^i}{i} \left( \frac{1}{i} - \frac{1}{i+1} + \frac{1}{i+2} - \dots \right)^2 \\
&= -\ln^3 2 - \sum_{i=1}^{\infty} \frac{(-1)^i}{i^3} + 3 \sum_{i=1}^{\infty} \frac{(-1)^i}{i^2} \left( \frac{1}{i} - \frac{1}{i+1} + \frac{1}{i+2} - \dots \right) \\
&= -\ln^3 2 + \frac{3}{4} \zeta(3) + 3 \left( \frac{\ln 2}{2} \zeta(2) - \zeta(3) \right) \\
&= -\ln^3 2 + \frac{3}{2} \ln 2 \cdot \zeta(2) - \frac{9}{4} \zeta(3).
\end{aligned}$$

Theorem 2.1 is proved. □

Now we give the proof of Theorem 2.2.

*Proof.* We apply Abel's summation formula, with  $a_n = n$  and  $b_n = (-1)^n x_n^3$ , where

$$x_n = \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots,$$



and we have that

$$\begin{aligned}
 & \sum_{n=1}^{\infty} (-1)^n n \left( \frac{1}{n} - \frac{1}{n+1} + \frac{1}{n+2} - \dots \right)^3 \\
 &= \lim_{n \rightarrow \infty} (-1)^{n+1} \frac{n(n+1)}{2} \left( \frac{1}{n+1} - \frac{1}{n+2} + \frac{1}{n+3} - \dots \right)^3 \\
 & \quad + \sum_{n=1}^{\infty} \frac{n(n+1)}{2} (-1)^n (x_n^3 + x_{n+1}^3) \\
 & \stackrel{x_n + x_{n+1} = \frac{1}{n}}{=} \frac{1}{2} \sum_{n=1}^{\infty} (-1)^n (n+1) (x_n^2 - x_n x_{n+1} + x_{n+1}^2) \\
 & \stackrel{x_n + x_{n+1} = \frac{1}{n}}{=} \frac{1}{2} \sum_{n=1}^{\infty} (-1)^n (n+1) \left( 3x_n^2 - \frac{3}{n} x_n + \frac{1}{n^2} \right) \\
 &= \frac{1}{2} \sum_{n=1}^{\infty} (-1)^n \left( 3nx_n^2 + 3x_n^2 - 3x_n - \frac{3}{n} x_n + \frac{1}{n} + \frac{1}{n^2} \right) \\
 &= \frac{3}{2} \sum_{n=1}^{\infty} (-1)^n n x_n^2 + \frac{3}{2} \sum_{n=1}^{\infty} (-1)^n x_n^2 - \frac{3}{2} \sum_{n=1}^{\infty} (-1)^n x_n \\
 & \quad - \frac{3}{2} \sum_{n=1}^{\infty} \frac{(-1)^n}{n} x_n + \frac{1}{2} \sum_{n=1}^{\infty} \frac{(-1)^n}{n} + \frac{1}{2} \sum_{n=1}^{\infty} \frac{(-1)^n}{n^2} \\
 & \stackrel{(*)}{=} \frac{3}{2} \left( \frac{\ln 2}{2} - \frac{1}{2} - \frac{\zeta(2)}{8} \right) - \frac{3}{8} \zeta(2) + \frac{3}{4} - \frac{3}{2} \left( \frac{\ln^2 2}{2} - \frac{\zeta(2)}{2} \right) - \frac{\ln 2}{2} - \frac{\zeta(2)}{4} \\
 &= \frac{\ln 2}{4} - \frac{3 \ln^2 2}{4} - \frac{\zeta(2)}{16}.
 \end{aligned}$$

At step (\*) we used parts (a) and (b) of Theorem 2.1 and parts (i) and (iii) of Lemma 2.1. We also used in the preceding calculations that  $\lim_{n \rightarrow \infty} n(n+1) \left( \frac{1}{n+1} - \frac{1}{n+2} + \frac{1}{n+3} - \dots \right)^3 = 0$ , which follows based on (2.2).  $\square$

We mention that other challenging alternating quadratic series involving the tail of various special functions, as well as open problems, can be found in [4].

#### REFERENCES

- [1] Berndt, B. C. *Ramanujan's Notebooks Part 1*, Springer-Verlag, New York, 1985.
- [2] Boyadzhiev, K. N. Power series with skew-harmonic numbers, dilogarithms, and double integrals. *Tatra Mt. Math. Publ.* **56** (2013), 93–108.
- [3] Furdui, O. *Limits, Series and Fractional Part Integrals. Problems in Mathematical Analysis* Springer, New York, 2013.
- [4] Sîntămărian, A.; Furdui, O. *Sharpening Mathematical Analysis Skills* Springer, Cham, 2021.
- [5] Srivastava, H. M.; Choi, J. *Zeta and q-zeta functions and associated series and integrals* Elsevier, Amsterdam, 2012.

DEPARTMENT OF MATHEMATICS  
 TECHNICAL UNIVERSITY OF CLUJ-NAPOCA  
 STR. MEMORANDUMULUI NR. 28, 400114, CLUJ-NAPOCA, ROMANIA  
 Email address: Ovidiu.Furdui@math.utcluj.ro  
 Email address: Alina.Sintamarian@math.utcluj.ro